Pull of x for PV

Ratio

Pull of y for PV

Ratio

Pull of z for PV

Ratio

iy

0.8

0.6

0.4

0.2

0.95]

10?

$o. cedf”

Pull of x

Ratio

0.4

0.2

0.95

Pull of x for merged vertices

Ratio

0.8

0.6

0.4

0.2

1 10 102 3 o*
%DDT(Ge\]/')

0.8

0.6

0.4

0.2

0.95]

0.9

1 10 10? %0?3? ( Ge\})o“

0.8

0.6

0.4

0.2

0.95]

Pull of y

Ratio

Pull of z

Ratio

b

£

1.8

1.6

1.4

1.2

0.95

0.9

1.8

1.6

1.4

1.2

=

Y p. (Gev)

Pull of y for merged vertices

Ratio

Pull of z for merged vertices

Ratio

N

1.8

1.6

1.4

1.2

[y

=

0.95]

0.9

N

1.8

1.6

1.4

1.2

Y b, (Gev)



	Contents
	Page 1


